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* 4 people per group (=4 An—i8)

» After instructions, each group will receive
(BIEREERERRESERA BRI T L)

e 1 Tape (Bza1m@)

1 Color Pencil (zenz1%)
e 1 Paper Box (=1 @)

o 24 Slips (& 24 %)

No Other Tool Allowed!! xagramrTan

Chain Production



1. Use Color Pencil to Connect the Dots
FIRALESEEEER (—X—3F))

Keep Your Table Clean! mgizsmss
Draw ONE Slip at a time! sgranss

Chain Production



2. Tape the Slip into a Ring
GleE e o)
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3. Combine Rings into Chains
CEEEDES)
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» Each Chain = 15 Ecoins (s—@m=s=)

» Labor and Capital are both costly
» (BETENASEETHEE)

» 4 rounds: 1 minute each with 30 seconds of discussion
beforehand

» (405, SOSRE 1 D8, BRSNS 30 DAREE)
» Earnings = Max. in 4 rounds (g5 =+ BatmwasHHE)

» Each group receives 1 toolkit @zmrAmmTa—=)
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» Produce with 1 (=@mgemer 1 AsiFsm
» 30 seconds Discussion @mmmmstFomaa)

» Time's up! Get ready... man asnrsmm.)

Chain Production



» Round 1 of 60 seconds begins! (s—mamsm co0 weumn

00:28

» Time's up!! Record results @mzn seses)

Chain Production



BRIRZE(F LR

Linked-Rings Factory

MH- == 5 . —
__JEIEIEQ ° Fr— F( I
(Production Function)
Total Total
Round| Tape | Pencil| Labor | Product |Revenue| TFC TVC TC m MPL VMPL MCL
BB | wE|sn|aze| & |Be |29 | 2 | 2
$25 | $15 | $10 | $15 | W= | AeA | A | s | AUE
1 1 0 0 0 40 0 40 - 40 NA NA NA
1 1 1 1 ‘ ‘
2 1 1 2
3 1 1 3
4 | 1 1 4
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» Produce with 2 (z@mgeisr 2 AsiFsm
» 30 seconds Discussion @mmmmstFomaa)

» Time's up! Get ready... man asnrsmm.)

Chain Production



» Round 2 of 60 seconds begins! (s=mamsm co0 weun

00:28

» Time's up!! Record results @mzn seses)

Chain Production



» Produce with the other 2 (zmrgErsn 2 AT

» 30 seconds Discussion @mmmmstFomaa)

» Time's up! Get ready... man asnrsmm.)

Chain Production



» Round 2b of 60 seconds begins! @snsm—mats oo wamn)

00:28

» Time's up!! Record results @z semes)

Chain Production



BRIRZE(F LR

Linked-Rings Factory

MH- == 5 . —
__JEIEIEQ ° Fr— F( I
(Production Function)
Total Total
Round| Tape | Pencil| Labor | Product |Revenue| TFC TVC TC m MPL VMPL MCL
BB | wE|sn|aze| & |Be |29 | 2 | 2
$25 | $15 | $10 | $15 | W= | AeA | A | s | AUE
1 1 0 0 0 40 0 40 - 40 NA NA NA
1 1 1 1
2 1 1 2 ‘ ‘
3 1 1 3
4 | 1 1 4

Chain Production




» Produce with 3 (who did not do Round 1) =mmmizemns
—EIBHTD 3 AETRIE)

» 30 seconds Discussion (BRzErm#ET300 5!

» Time's up! Get ready... man asnrsmm.)

Chain Production



» Round 3 of 60 seconds begins! (s=mamsm co0 weumn

00:28

» Time's up!! Record results @mzn seses)

Chain Production



BRIRZE(F LR

Linked-Rings Factory

MH- == 5 . —
__JEIEIEQ ° Fr— F( I
(Production Function)
Total Total
Round| Tape | Pencil| Labor | Product |Revenue| TFC TVC TC m MPL VMPL MCL
BB | wE|sn|aze| & |Be |29 | 2 | 2
$25 | $15 | $10 | $15 | W= | AeA | A | s | AUE
1 1 0 0 0 40 0 40 - 40 NA NA NA
1 1 1 1
2 1 1 2
3 1 1 3 ‘ ‘
4 | 1 1 4

Chain Production




» Produce with 4 (zmisir + AgiFnm
» 30 seconds Discussion (BRzErm#ET300 5!

» Time's up! Get ready... man asnrsmm.)

Chain Production



» Round 4 of 60 seconds begins! (smaasm co weumn

00:28

» Time's up!! Record results @mzn seses)

Chain Production



BRIRZE(F LR

Linked-Rings Factory

MH- == 5 . —
__JEIEIEQ ° Fr— F( I
(Production Function)
Total Total
Round| Tape | Pencil| Labor | Product |Revenue| TFC TVC TC m MPL VMPL MCL
BB | wE|sn|aze| & |Be |29 | 2 | 2
$25 | $15 | $10 | $15 | W= | AeA | A | s | AUE
1 1 0 0 0 40 0 40 - 40 NA NA NA
1 1 1 1
2 1 1 2
3 1 1 3
4 1 1 4 ‘ ‘
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- Chain Production Record Sheet gs=nmoss

Chain Production



BRIRZMF L
Linked-Rings Factory

FERE: Y =F(_K , L )

(Production Function) 3#IS A A5
Total Total
Round| Ta encil | Labor | Product jRevenue| TFC TVC m MPL VMPL MCL
525 | $154.$104 ($15 UA | Ak A/ | RE BREL|FREE|FEAE

1 1 0 0 40 0 40 =40 | NA NA NA

40 | 10 | 50 | -5 3 | 45 | 10

11111 1] 3

2 1 1 2 8 40 | 20 | 60 | 60 5 75 | 10
3 1 1 3 11 40 | 30 | 70 Bi 3 45 | 10
4l 11| 4| 12 40 | 40 | 80 (100)I 1 | 15 | 10
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- Chain Production Record Sheet gs=nmoss

- How would your production strategy change if wage
increases to $207 mzTmr® 2 mem 520, FMERBRMDEERIIR? BTE)

Chain Production



R 3= 2 Lk

Linked-Rings Factory

,'_ﬁ N (4 . -
_ ::E@l%‘[ : Y : F K L
& o Sz W
(Production Function) 3§IS A  ZFH)
Total Total
Round| Tape | Pencil | Labor | Product |[Revenue| TFC TVC TC m MPL VMPL MCL
Alew | wxlenlezs| & B 25| & | & |ZSBEBHEZHE

$25[815| $20 | $15 | Wz | sk | BA | Ak | A [REDL|REEFRAR
1117 0] 0 | 0 | 40| 0 | 40 | -40| NA | NA | NA

1 1 1 1 3 45 | 40| 10 | 50 | -5 3 45 | 10
8 120 | 40|l 20 | 60 | 60 5 75 | 10
3

11 | 165 40|| 30 | 70 95| 45 0| VMPL > MC

12 1180 | 40| 40 | 80 | 100 [ _1 15 } VMPL < MC

Chain Production

1 1

EN w N
—
1N w N
T
|




R 3= 2 Lk

Linked-Rings Factory

,'_ﬁ N (4 . -
_ ::E@l%‘[ : Y : F K L
& o Sz W
(Production Function) 3§IS A  ZFH)
Total Total
Round| Tape | Pencil | Labor | Product |[Revenue| TFC TVC TC m MPL VMPL MCL
Alew | wxlenlezs| & B 25| & | & |ZSBEBHEZHE

$25[815| $20 | $15 | Wz | sk | BA | Ak | A [REDL|REEFRAR
1117 0] 0 | 0 | 40| 0 | 40 | -40| NA | NA | NA

1| 1 1 1 3 45
2 111 1] 2 8 120
211 1 3| 11 | 165 VMPL > MC
4 1111|412 |180 I VMPL < MC

Chain Production



- Chain Production Record Sheet gs=nmoss

- How would your production strategy change if wage
increases to $207 mzTmr® 2 mem 520, FMERBRMDEERIIR? BTE)

- Production Function (L vs. K ) zzmzmE 0 szs)

Chain Production



- RIREELR -
Linked-Rings Factory EEZK

EERH: Y =F( K., _L_)
(Production Function) IR = F:S Z5ED
uuuuu Tape Pencil Labor PT:;thIR;rvl::llle TFC TvC TC m MPL FMPL MCL
B | B |l o) |RE2]| 2 (B |28 | 2 | @ fﬁ%ij SWiE | S8E MP AP
it 15 )| $10 | $15 | Ui 178 JlPE R -
1 0 0 0 40| NA L, L
Total 11| 3]4 5] 3 b th f t
Product| |4 | MP. [E—1| APL otn Tirs
= = KK 3 2XEh = .
mEe| [leld| 55802 1) 552 |l increase
47 == B
REE ES /

then drop N AR AN

NA NA
a
3.00 a

.//
4.00

3.67 s Diminishing Miarginal
3.00 Returns (:2msams ;=)
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Production Curves
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- Chain Production Record Sheet gs=nmoss

- How would your production strategy change if wage
increases to $207 mzTmr® 2 mem 520, FMERBRMDEERIIR? BTE)

- Production Function (L vs. K ) zzmzmE 0 szs)
- Cost Functions (FC, VC, TC) mzm @zmns. 2omns. @mns)

Chain Production



BRIREET R

Linked-Rings Factory

EERE Y =F _K_, L)

(Production Function) %8 =R B5Ef 100
TTTTTTTTTT
RRRRR Tape | Pencil | Labor | ProductfjR TFC TVC TC ™ MPL VMPL MCL
Of | B | wE | gn|eze]| 2| B | 28 | & m |BEE|SHE SHE 90
$25 | 315 | $10 8 $15 | weas)| miA | sk | ik | B [BES|REE|FREE

15

==
JNI.‘;\EE
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- Chain Production Record Sheet gs=nmoss

- How would your production strategy change if wage
increases to $207 mzTmr® 2 mem 520, FMERBRMDEERIIR? BTE)

Production Function (L vs. K ) szzmE v szs)

Cost Functions (FC, VC, TC) msm @zmns. 2oms. @ms)

How is Production related to Cost? (+zmaEmssmnsE-mait
ERIR?)

Chain Production
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Chain Production Record Sheet smmmans
How woulc

your production strategy change if wage
increases to 9207 eIz 2 mem 520, SM@BERIRENEERR? BHE?)

Production Function (L vs. K ) szzmE v szs)

Cost Functions (FC, VC, TC) msm @zmns. 2oms. @ms)

How is Production related to Cost? (x=
RERI5?)

NENEHEEF N AE BB

Extensions? Staples, MP, AC, MC zmzs

IS, SEFIIEH. FIREZRRT)

(I HE S i 25 11 EE 1R Y AE {87
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How to Draw AC and MC

GN ol & 3 33 Ak 4 B i PR AR AN
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TVC, TFCand TC  MC ACand Average Variable Cost (AVC)

Cost TC Cost ' e

AC
TVC b
AVC
X
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) —

Output Output




REEWF W

* There are a large number of buyers and sellers.
mEPARARZERIRER
* All firms produce identical products.

FrEmEEEESTEMEE (FE) WEMR

* All market participants have full information about prices and product
characteristics.

MmZEPRIMASHEBHRERRERTHAATEEM
* Transaction costs are negligible.

25 AN ZIE R 5

* Firms can easily enter and exit the market.

i 5 O] LAES 5 it 3 A EER 35




Anta A isis8 (price taker)

> BB/ EFRERTE /EEH%E :
> IR = TS A

HISETE = BEIE MR

B3R M BB RIE R AEA
BB EERE

mw=TR—-TC

vV V V

Demand |~ — MR — MC




MC, AC and Average Variable Cost (AVC)

AVC

G | MCalso cuts AVC
curve at min of AVC

Demand




MC, AC and Average Variable Cost (AVC)

(_I MC also cuts AVC
I curve at min of AVC

Demand




MC, AC and Average Variable Cost (AVC)

G | MCalso cuts AVC

Demand : curve at min of AVC
—
---------------------------------------------- uantit
g QO ° ’ q* Output



> {ERI AL AR = MC AR ?

Price

Demand

Q o Quantity

MC, AC and Average Variable Cost (AVC)

MR

MC also cuts AVC
curve at min of AVC

q Output



MC, AC and Average Variable Cost (AVC)

. — I MC also cuts AVC

I curve at min of AVC
I

*
%
q Output




MC, AC and Average Variable Cost (AVC)

G | MCalsocuts AVC
I curve at min of AVC




MC, AC and Average Variable Cost (AVC)

> BRI RBHSE - BD
ATBESEETEI HE

BEHISARMEF 7? oo | Mc .
AC
> BEMAFENZL —
Price h"d’C_
AR MR

MC also cuts AVC
curve at min of AVC

Demand

Q o Quantity

> q Output



MC, AC and Average Variable Cost (AVC)

—14 Price
e Supply
AC
AVC
= G || MCalsOCUSAVE T
curve at min of AVC
---------------------------------------------- Quantity

Output



- BRI E?
1. How does a monopoly determine P and Q7 (BERAE R

» Facing downward-sloping demand curve D(Q¥*), @xasznmsss)
» Produce Q* at MR(Q*) = MC(Q*) P
» SEREHEQEMR(QY)=MC(Q¥)
» Set P* based on demand P* = D(Q¥*) p#
» BEEMEBRRAE/EP*=D(Q)
2. Is the long-run market outcome
efficient? Explain. (esnuesuzsane)

» Inefficient: > 0 since P* > MC
CRBMEKR, RBREIBP*>MCEFSDWL>0)

Economics in the News




1. How does a monopoly determine P and Q7 ®sm

» Facing downward-sloping demand curve D(Q*),
» Produce Q* at MR(Q*) = MC(Q*) p|

» Set P* based on demand P* = D(Q¥*)

2. Is the long-run market outcome
efficient? Explain. (=nuesuzsianm)
» Inefficient: > 0 since P* > MC
» LR profit > 0 since P* < ATC, so
» Gov't can auction off the market

Economics in the News

Pt

EiRFIEIE?)
R

MC ATC

(EP*<ATC
fEREAFIE>0
(X Lt BT & A

REEEMR)




. o BEHEEE
1. What about a monopolistically competitive ﬂrm?%m{%;ﬁ’;?

» Facing downward-sloping demand curve D(Q%*), (BBsmEms75&?))
» Produce Q* at MR(Q*) = MC(Q*) P |

» Set P* based on demand P* = D(Q¥*)

2. Is the long-run market outcome
efficient? Explain. (esuesuzsanm)
» Inefficient: > 0 since P* > MC

» But LR profit = 0 since P* = ATC (HREA
REEH

Pt

MC ATC

(eBM=
EH&P*>MC
EHEDWL>0)

(under free entry and exit) wwmigp*—aTCEFIE=0) Q

Economics in the News
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